I 000¢-

- 008%-

- 004t~

| [
=== g
R 117
L H d
1 il
e i
- Ls
= — F—t —
S e
m. ¥
Jei el e
o %

&
wn
e
<]
z
@
]
o
o
3]
(o]

0008- 4

T
-
W5
=4 L 0067 4
T i
- — MI o
e ) M._‘ 008+
& £
3 : -
i
— =1 |2 00Lr-
= P L
— e
e Sl h

0 3#5-362 oume -5 0 vy
134 00T ML 095

§2 505 - 282 Wre-§ 82 avu

W 00T W (99

UOI}03S SSOI)) [BINJONIS

=300 g FETWE-LIV =5 L0%e! IO SIS =SVN V-VRT L LD
T - 2 100 2INLE =EVN VYR
< m ?:no..lo 902 m oz;ﬂ_uno 203 M ENUVEES0 20 <
i »
- rShmnnB_n- CCrimlredil Q0Rer08100¢

Exhibit * 8

[C)
=
2
w
o
o
o
o]
(&}




